Find the cube root of 2744.
(A) 25 (B) 9

(C) 8 (D) 14
(E) Not attempted

(i

The Tangri river begins its journey at
in Haryana.

(B) Aravalli hills
(D) Ambala

(A) Kalka
(C) Chandigarh
(E) Not attempted

Complete the following analogy.
Vitamin A : Retinol :: Vitamin C :
(A) Tocopherol (B) Calciterol
(C) Ascorbic acid (D) Niacin
(E) Not attempted

Find the smallest number that must
be added to 1780 to make it a perfect

square.
(A) 36 (B) 64
(C) 69 (D) 81

(E) Not attempted

The Central Investigation Department
(CID) training school of Haryana is
located at

(A) Zirakpur

(B) Panchkula
(C) Chandigarh
(D) Gurugram
(E) Not attempted

The water accumulated under the
ground surface is called

(A) Ground water (B) Well
(C) Spring (D) Canal
(E) Not attempted

CG - CH23

1. 2744 % SE A HINT |
(A) 25 (B) 9
(C) 8 (p) 14
(E)

2. gfcmmﬁzhrﬂﬁmmﬁﬁﬁ'“%
Hl 8 7
(A) HIcThT (B) m?ﬁqﬁ%?ﬁ
) SEg (D) IFaTe
(E)

3. Preffed GrEdd Hi g AT |
ﬁaﬁqqﬁcﬁﬁﬁzzﬁaﬁqzﬂ:_—
(A) BB (B) Hfcagre
(C) T wfre (D) Ff
(E) STt

4. 9 TEd DI TS T Hieg FE 1780
# et w98 T f W 1 W |
(A) 36 (B) 64
(©) 69 (D) 81
(E) 3SERia

5. e Hga gafeieE feardhe [ i)
v e AR
(A) SR
(B) TEHeT

Elﬁ‘&'él(c]m

% (D) T
(E) 3ToRnfia

6. HH H Hag F A T arh
g S8 |
(A) ST (B) HAT
(C) & (D) =X
(E) TR



10.

11.

_________is a footstool that features
a seat made of intertwined strands of
thread in various colors and patterns.

(A) Sanghi (B) Pidi
(C) Jutti (D) Peedha
(E) Not attempted

Mixing of unwanted substances with

water is called

(A) Nuclear pollution‘
(B) Sound pollution
(C) Soil pollution

(D) Water pollution
(E) Not attempted

EREE
-
[=]:

Rural Infrastructure Development Fund
(RIDF) was established in

(A) 1995-1998
(B) 1995-1996
(C) 1992-1993
(D) 1992-1996
(E) Not attempted

Find the average of first.40.natural
numbers.

(A) 25.5

(C) 20.5

(E) Not attempted

(B) 21.5
(D) 24.5

This prominent Hindi writer of Haryana
had compared the acts of Lord Curzon
with Nadir Shahi

(A) Hali

(B) Lala Lajpat Rai

(C) Bal Mukund Gupta
(D) Pandit Nekiram

(E) Not attempted

CG - CH23
U e o o fafem o
3R Aot o a3 T e U €l
TG AT R |
(A) TTeft (B) fugt
(C) vt (D) dier
(E) vanfa
IEifsqareima A fems
HET AT R |
(A) TTET] HEHT
(B) & g
(C) ¥aT g7

* (D) Siet HeHUT
(E) ITRmféd

X THILIFH STATHE HS (STNATEETH)
i T Ags

(A) 1995-1998

(B) 1995-1996

(C) 1992-1993

(D) 1992-1996

(E) st
10. T 40 WIS HEIIAT 1 HEd F1d i |
(A) 25.5 (B) 21.5
E¥E
fadt (C) 20.5 (D) 24.5
T (B) IvTE
11. shamn % fora yg@ & das 3 1S Fua

= Hl i gor ey I | 6 ot ?
(A) BT

(B) ST SATSIId WS-

(C) =t THS Tl

(D) ufga Jhry

(E) 3T
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12. Pradhan Mantri Jan Dhan Yojana was
launched on
(A) 28" August 2014
(B) 28™ August 2016
(C) 28" November 2016
(D) 28™ November 2014

(E) Not attempted

13. Masani dam of Haryana is built across
which among the following rivers ?

(A) Sahibi

(B) Yamuna

(C) Krishnavati
(D) Tangri

(E) Not attempted

14. Full form of NDC %‘%
(A) National Directory College C
(B) National Defence Course
(C) National Defence College
(D) National Directory Coast
(E) Not attempted

15. Find the square root of 147 1369.
(A) 1412 (B) 1213
(C) 1312 (D) 1413
(E) Not attempteqd

16. TheF Orﬁ:StS Department of Haryana
runs which among the following
breeding centres in Kurukshetra
district ?

(A) Pheasant Breeding Centre

(B) Peacock and Chinkara Breeding
Centre

(C) Chinkara Breeding Cengre

(D) Crocodile Bréeding Ceptre

(E) Not attempte

12.

13.

14,

15.

16.

CG - CH23

e o o A e
£ 73 oft |

(A) 08 3T 2014

(B) 28 3T 2016

(C) 28 T« 2016

(D) 28 T&s 2014

(E) TSR

i % war @y fefofea 4 @ feg
TR RWETART TR ?

(A) |

(B) FgT

(C) Foomarit

(D) e

(E) Toamrad

TSl 1 U '

(A) S SRR Hiers
(B) e fethg g
(C) veT feb wig
(D) FS TRRFE FRe
(E) 3T9idm

1471369 %1 gt 314 Hifd |

(A) 1412 (B) 1213
(C) 1312 (D) 1413

(E) 3

BRET =51 = e v 4 Freferfg
ﬁaﬁq-mm%—gaamg?

(A) TR o g

(B) AR W& febmr o 35z

(C) Feprr womm 3z

(D) W=D Yo 5z

(E) Strnfi
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17.

18.

19.

20.

21.

The difference of 2 numbe::s is 1!
and one-fifth of their sum 18 9. Find
the numbers.

(A) 28 and 16
(B) 28 and 17
(C) 25 and 17
(D) 26 and 17
(E) Not attempted

What is virtual memory ?

(A) The process of dividing physical
memory into small blocks

(B) The process of compressing memory
to save space

(C) The process of simulating more
memory than is physically available

(D) All of the above

(E) Not attempted

Which function is used to read a
character from the console in C ?

(A) putchar() (B) getchar()

(C) scantf() (D) gets()
(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

(A) 201 (B) 252

() 254 (D) 356  EFD
K0

(E) Not attempted B

What is the reason behind Red soil

developing a reddish colour ?

(A) Over grazing

(B) Due to the presence of high iron
oxide

(C) The presence of potash and
magnesia

(D) None of these

(E) Not attempted

17.

19.

20.

21.

5.

CG - CH23

3 T3t 1 A 11 & 3R I I 6
TieEi wmT 9 & | GEATE A i |

(A) 28 3N 16,

(B) 28 3T 17

(C) 25 3R 17

(D) 26 3 17

(E) Ay

ST WAL FE 7

() e T 1 ore st § ff
F Y TR

(B) wTe F=R & ferg Al =h1 wifsa
A Sl gfshAT

() ¥itferes 9 & Ioerey HART H1 e
3 arfres AAH w1 IR FH H
e

(D) JurEr |l

(E) TS

c i Hue ¥ HEe B Ged & fog fhw
e 1 ST R ST 2 7
(A) putchar() '(B) getchar()

(C) scanf]() (D) gets()

(E) 3TSRIRd

A L : 450 T 28% + 280 I 45% |
(A) 201 (B) 252

(C) 254 (D) 356

(E) 3Trted

el firdt & oIt B9 T I HRUT @ 7
(A) T =Ts

(B) T8 T 3iiarse i Jufeafd b HwT
(C) drerwr 3 Axfifirn i ufeufd

(D) 38 A IS T

(E) 3SR
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EEE‘L
22. The sum of 2 numbers is 184. If

one-third of the one exceeds
one-seventh of the other by 8, find

the smaller number.

(A) 64 (B) 76
(C) 84 (D) 72
(E) Not attempted

23. If a radio is purchased for Rs. 490
and sold for Rs. 465.50, find the loss

percent.
(A) 5% B) 7%
(C) 6% (D) 9%

(E) Not attempted

24. Which among the following lakes is
located in Rohtak District of Haryana ?

(A) Karna Lake

(B) Brahma Sarovar
(C) Tilyar Lake

(D) Blue Bird Lake
(E) Not attempted

25. What value will replace the question
mark in the following equation ?
1 1 1 2
—+3=+4+?+2—=13=
4 5 +3 6 +7+ 3 5
3 E:3m
A) 13— v
T e
2
3-—
(B) 33
1
3_.
© 3,
(D) None of these
(E) Not attempted

CG - CH23

0o, 2 GENIAT H AN 184 2 | ATE T &I
- q@ % T A H 8 JAfe R,

A Bid e 7@ H

(A) 64 (B) 76
(C) 84 (D) 72
(E) SToRTEd

afe wh e 490 ¥F H Gl S 2
31T 465,50 T § =1 STAT &, I B H

gfererd Td it |
tA) 5%

%%E(C) 6%
B (E) sryEfa
24, Tr=fafea 4 4 - 3w sfemon $
Tigas forel & fRa 8 7
(A) i et
(B) &I |
(©) foeam i
(D) =1 &€ 3w
(E) Tofia

23.

(B) 7%
(D) 9%

25. Fefafes oo & ay g % o w
HH-H H QT 7

1 1 1 2

2 36+ +%3 1*35

(A) 13~3—
10

2

B) 3‘5

1
(C) 4

(D) 37 ¥ 1S 7
(E) 3rvnfa
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poeen Tt

26. Complete the following analogy.
Fish : Aquarium : : Poultry :
(A) Farm (B) Shed
(C) Den
(E) Not attempted

29
first newspaper ‘Haryana Jhajjar’.
(A) Rajaram Shastri
(B) Bhagwat Dayal Sharma
arma
(C) Deen Dayal Sh o
(D) Ramacharan Shastrl E]E%ﬂ"m

(E) Not attempted

28. If2x+3y+z=55,x+z-—y=4and
y — x + z = 12, then what is the value

ofz?
(A) 9 (B) 7
(C) 5 (D) 8

(E) Not attempted

29. The Karnataka State Co-operative

Marketing Federation Ltd. plays a

major role in supplying

(A) Chemical fertilizers

(B) Agricultural implements
(C) Pesticides |

(D) All of the abpve

(E) Not attempted

30. Full form of RKVY
(A) Rajya Kendra Vikas Yojana
(B) Rajya Krishi Vikas Yojana
(C) Rashtriya Krishi Vikas Yojana
(D) None of these
(E) Not attempted

(D) None of these

was the Editor of Haryana's

29.

-
@HE

7-

26.

27.

28.

30.

CG - CH23

frfrfiaa g = i Hif

gfemn % TEd HATER 19
ghemn o % Fured ¥ |
(A) TSI et
(B) WTerd gaTet Ml
() &N gt T
(D) TR I
(E) 3Tanted

1Tﬁ2x+3y+z=55,x+z—y=43flt
y-x+z=127 2H AH FNE ?

(A) 9 (B) 7

(C) 5 P 8

(E) TSR

Fleh T deshit Toqve FeteH fefies

fopaehl amafd # wp@ gftret fvmar @ 7
(A) TEEfE I

(B) HfY IwHn

(C) hreATerE=h

(D) Iurea |t

(E) Tnfea
ITEhelaTs <1 of &9 2
(A) T g s Ao
(B) TST ¥ faehre A=
.(C) T Sy fasm s
(D) 31 & IS &

(E) Twanfa
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31.

32.

33.

34.

Which among the following is
considered as the first Haryanvi

language movie ?
(A) Chander Kiran
(B) Dharti

(C) Bahurani

(D) Chandrawal
(E) Not attempted

India is the largest Country
in the world in terms of area. -

@) s ®) 7 e
(C) 8 (D) 9 (el

(E) Not attempted

Which of the following is true regarding
Subroutines in a computer program ?

(A) Subroutines cannot return a value
to the calling program

(B) Subroutines can only be called
from the main program

(C) Subroutines are used to perform
repetitive tasks in a program

{D) Subroutines can have their own set
of local variables

(E) Not attempted

If the cost price is 96% of the selling
price, then what is the profit percent ?
(A) 6.17% (B) 4.17%
(C) 3.17% (D) 5.17%

(E) Not attempted

31. ﬁwﬁ“'rﬁaﬁﬁﬁ%@‘éﬁwaﬁmaﬁ%
feg(:q'q'l':{‘rﬁﬂﬂ'l%?
(A)?ia'(ﬁ?(ﬂ
(B) Tt
(C) wguHT
(D) =gTeet
(E) FHyafea
32. e % G W WRG g H
g qEI eV ¢ |
(A) 5 ®) 74
(C) 81 (D) 9=t
(E)
33. HUYR TUW ¥ IS & G} § freffia
T8 P-TER R 7
(A) T HiferT ST Y i doq.
q9E &l T GhaT &
(B) B I el &I I F F
Hiet v 51 gepan 2
(C) Toreht St & Srewe w1 TSt B B
FH % o0 gawd=a &1 3990 frar
AT 8
(D) FEEEI 1 79T Wlehel INTT
,.,ﬁ HZ Bl HHhaT ¢
o (E) 3T
34. qﬁwajqwﬁmqﬁmgs%%,ﬁ
AT T Sfov a2 2 7
(A) 6.17% B) 4.17%
(C) 3.17% (D) 5.17%
(E) arrfyg
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35.

36.

37.

38.

The regulated and controlled
distribution of essential goods among
people

(A) Public Distribution System

(B) National Institute of Agricultural
Marketing

(C) National Co-operative Development
Corporation

(D) Source of Agricultural Credit in
India

(E) Not attempted

If in a certain language A is coded as
1, B is coded as 2 and so on , how is
BIDDIC coded in that code ?

(A) 394492
(B) 284563

(C) 294493
(D) 375582
(E) Not attempted

Full form of NAIS

(A) National Arguments Institution
Survey

(B) National Agricultural Insurance
Scheme

(C) National Argument Insurance
Scheme

(D) None of these

oki0)
(E) Not attempted

OE%ES

A sum of Rs. 800 amounts to Rs. 920
in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

(A) Rs. 998 (B) Rs. 995

(C) Rs. 992 (D) Rs. 997
(E) Not attempted

35.

Eleats

36.

37.

38.

20

CG - CH23

w3 o smavas aEgA w1 faftefe
3 Frifra feraao
(A) Tt fereror somed!
(B) T pfy oo HEAT
(C) Tt wgepTh) ferehrr T
(D) W § i =01 H1 A
(E) 79

Ife v fiftrg wr § A1 1, BH 2 3R
=t g @ie fF S 2, d I @i §
BIDDIC ! & ited forn smam ?

(A) 394492

(B) 284563

(C) 294493

(D) 375582

(E) 3o

TAUSETH 1 O ¥ 2

(A) I IATHCE e wd

(B) T Ufieheae $9gid whiH

(C) et e $ete w=hm

(D) ¥ & H1§ T

(E) TrnfEa

800 ¥ <t TR Fremer =St 1 g W 3 AW

¥ 920 T B WA B} | e A X H 3%
s fen sme A g ufdr foeart & et ?

(A) ®. 998 (B) ®. 995
{€) ®. 992 (D) &. 997
(E) 3T
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39. A and B together can complete a piece of
work in 4 days. If A alone can complete

the same work in 12 days, in how many
days can B alone complete that work ?

(A] 5 days [B) T days

(C) 8 days
(E) Not attempted

(D) 6 days

Transformation of Aspirational
Districts Programme was
announced by

(A) NITI Aayog

(B) Pradhan Mantri Yojana

(C) Atal Pension Yojana

(D) None of these

(E) Not attempted

40.

41. A cyclist covers a distance of 750 m
in 2 min 30 sec. What is the speed in
km/hr of the cyclist ?

(A) 18 km/hr

(B) 12 km/hr

(C) 13 km/hr

(D) 17 km/hr

(E) Not attempted

42. IfD =4 and COVER = 63, then
BASIS =?
(A) 55 (B) 50
(C) 49 (D) 54 EEE
(E) Not attempted %i a

Full form of IMRB
(A) Indian Market Research Bureau

(B) International Market Research
Bureay

(C) Indian Market Rura] Business
(D) None of these
(E) Not attempted

43‘

CG - CH23

o. B e TR o 4 o

3 gﬁﬁlqﬁ,&aﬁﬁtaﬂmqﬁugﬁ
wmm%ﬁﬁBmmmﬁ%
forft # QU T FHAT R 7

(a) 5 & (B) 7 fem

) 8t (D) 6 f&q

(E)

aepieft el 1 R Frimn B gy
B 1 7 of |

et

40.

T AiEfehel §ar 2 oM 30 ¥she T 750 i
1 glt 7 a1 7, o Wislhe waw 4 i
feft/aar g = g ?

(A) 18 Tepet /e

(B) 12 foprdt /e

(C) 13 fortft /5ay

(D) 17 foft/gey

(E) Tt

e D = 4 3R COVER = 63, 4 BASIS =?
(A) 55 B) 50

(C) 49 (D) 54

(E) 9=

SLCHIT 1 ot & 2

(8) 3T e frast oy
(B) ST Hrhe fraret sy
(C) 3T mdhe v fem
(D) ¥8 & % 7

(E) TRfYm

41.

42.

43.
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CG - CH23

44. Hisar Airport of Haryana is formally | 44, wfomy & fagr zard 3@ #1 lw=nies
known as International Airport. R ik I o c =i e} gaT8 318 % &Y
(A) Daya Ram ST ST ? |
(B) Maharaja Agrasen (A) <1 ™
(C) Bhagat Singh (B) i
(C) wma fé=
(D) Pandit Neki Ram (D) dfea Fhrm
(E) Not attempted (B) 3rsrnfird
45. The largest Delta of the world is 45. fag %1 g we1 T -—-—-——-% l
(A) Mississippi  (B) Ganga [? % (a) fafafaodt (B) T
(C) Sunderbans (D) Nile i (C) gt (D) e
(E) Not attempted (E) 3T
46. X introduces Y saying, “He is the 46. X ¥ v %1 uft=d 3 gY e, ‘TR fua
husband of the grand daughter of the ¥ foar 1 Oy T U 27 1 YR X H
father of my father”. How is Y related TET 2 7
toX? :
(A) Son in law (B) SIS
(B) Son (B) S
(C) Brother () ¥
(D) Brother in law D) FE3
(E) Not attempted (B) Jramiea
47. Find the average of all prime numbers | 47. 30 3R 50 % Siw ot IvT=T FEe @
between 30 and 50. 3a sma Hifse |
(A) 38.8 (B) 49.8 (A) 38.8 (B) 49.8
(C) 59.8 (D) 39.8 (C) 59.8 D) 39.8
(E) Not attempted (E) i
48. Doordarshan Kendra, the only 48. BRET W THa AR %,
Programme Production Center at T+ frr R w fRa R 7
Haryana is at this place 1A) Team
(A) Hisar gey (B) TEIH
(B) Gurugram E]%JI% (©) T
(C) Ambala " (D) TR
(D) Yamunanagar
(E) Not attempted (E) 3Tsrnfera
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49.

S0.

51.

52.

53.

is the first woman in India who
has won Olympic medal in wrestling.
(A) Sangeeta Phogat
(B) Sakshi Malik
(C) Babita Phogat
(D) Geeta Phogat
(E) Not attempted

Which is the number that comes next
in the sequence ?

0, 6, 24, 60, 120, 210, ? %@
(A) 504 (B) 290 g
(C) 240 (D) 336

(E) Not attempted

A deposition of sand which results in

a long, narrow embankment in the
sea near the coast is called

(A) Beach
(C) Sand bar
(E) Not attempted

(B) Lagoon
(D) Latitude

Who among the following famous
personalities is often known as “Gandhi
of Haryana” ?

(A) Babu Mool Chand Jain

(B) Dharam Singh Hayatpur

(C) Sir Chotu Ram

(D) Rao Tula Ram

(E) Not attempted

What is an instruction code in
computer architecture ?

(A) Asetofinstructions used to program
a computer

(B) A type of machine language used
by computers

(C) A code' used to represent the
operations performed by a
Central Processing Unit (CPU)

(D) All of the above w
(E) Not attempted @3{%

49.

50.

51.

S52.

S3.

-12-
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(A) @ﬂmm

B et AT

(c) T B

(o) Tt BFTe

() I

o T, o I STl HE B R

0, 6, 24, 60, 120, 210, ?

(@) 504 (B) 290

(C) 240 (D) 336

(E) SyaTd

1 1 AT FEeh IRTHREEY 7@ % g
gy U T W91, HHU qeSY S M ¢,
__ g@ml @ |

(A) = (B) &

(C) Hs IR (D) <ifeeTs

(E) 3Tmi

st wfRml § 4 Rl arem e §
M & w9 F 7 S R 7
(A) =19 e S
(B) 7 firg e
(C)H{E@[‘;\r{q
(D] W@F{Tm
(E) Sty
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54.

55.

56.

57.

Find the H.C.F. of 108, 288 and 360.
(A) 36 (B) 28

Eg
(C) 30 (D) 26 SR

(E) Not attempted

The outermost solid cover or shell of

the earth is known as
(A) Igneous

(C) Earth crust
(E) Not attempted

(B) Sima
(D) Sial

The two general categories of crop

insurance are called

(A) Crop-yield insurance and crop-
revenue insurance

(B) Crop-price insurance and crop
revenue insurance

(C) Crop-price insurance and crop
insurance

(D) None of the above
(E) Not attempted

Which of the following is true about

passing an array to a function in C ?

(A) Only the last element of the array
is passed to the function

(B) The entire array is passed to the
function by value

(C) The entire array is passed to the
function by reference

(D) Only the first element of the array

is passed to the function

(E) Not attempted

54,

55.

56.

57.

=

e

13-

CG - CH23

108, 288 3flT 360 1 HEdd HATIEdS

(Tareius) s Hif |

(A) 36 (B) 28

(C) 30 (D) 26

(E) e

gt & ged wTedl 3 HTEW I T Hl
. wE |

(A) 3= B) T

() 3% = (D) e

(E) TSRt

e st 6 S g A e
FE @ |

(A) FEA-3TS AT SR e ~Tore e

(B) HHA-Hed ST 3R HHA Tord

(C) FHE-Ted ST TR FHEe ST
(D) I B & HIE T
(E) ST

c 3 T HaeH % et @ i FE &

T & Feffaa @ FR-m @ 2 7

(A) @ 1 Heet I T BFA F Y
g feran S 2

(B) TYU W ! HEH & forg I gl
9 foran e @

(C) B W A HawH F forg el g0
urg fepan San @

(D) W 1 hael Y& e HawH & (70
urg foma stran 2

(E) STSaniid
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S8.

59.

60.

61.

is the most important and
read category. It covers 40% of

widesp In fact the entire Northern

d area.
g;:mhsnare made up of these soils,
(A) A]_]uvia] soil (B) Red soil
(©) Black soil (D) Laterite soil

(E) Not attempted

Which of the following diagram
correctly represents Elephants,
Wolves, Animals ?

@ PP
e (LD

]

oF ol

(E) Not attempted

Pointing out to a photograph, a man
tells his friend, “she is the daughter of
the only son of my father’s wife”. How
is the girl in the photograph related to
the man ?

(A) Sister

(C) Daughter

(E) Not attempteq

(B) Cousin
(D) Mother

Which muséum has been built to
protect artifacts from the [ngus Valley

Civilization ?

(A) Banawali museym,

(B) Mohenjodaro musey,
(C) Harappa museum

(D) Rakhigarhi museéum

[=];

(E) Not attempted

58.

59.

60.

b,
e

61.
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o e 3T S dfty
=i 40% (A & Wi 3 | T 3
et A TR R A= R |

(a) TG A (B) =i firdh

() Fcht & (D) Teuse

(E) Jatad

frafrfad # @ SiF-T1 3@ g,
Wi, TR 1 TE Tl W € 7

T TR H 3R 390 W §U, Th
At 3T QR | e & R g W
e & of  goreita @ R 2
Y R 7
(A) s& T
€) ¥&

(E) 5

Ty o1&t T B et B gl W@
* o S-a werer wwn TR 7
(A) SEE Guge™

(B) WETSIce! SURTeH

(C) ESo HyETed

(D) TETe e

(E) 3T

(B) w=f W&
(D) =i



62.

63.

64.

65.

66.

Which of the following number is

(A) 541326

(B) 1111

(C) 5967013

(D) None of these
(E) Not attempted

is the most widespread
form of advertising and is the favourite
of the Indian rural masses.

(A) Folk media |
(B) Wall painting g!}%
(C) Magic shows i

(D) None of the above
(E) Not attempted

During this year, seat of Punjab High
Court shifted to Chandigarh

(A) 1968

(B) 1958

(C) 1955

(D) 1965

(E) Not attempted

If + means /, — means *,/ means + and
* means —, then

36*12+4/6+2-3 =7

(A) 2

(B) 42

(C) 18

(D) None of the above

(E) Not attempted

Where is the Niagara river found ?

(A) North-America(B) India
(C) Japan (D) Australia

(E) Not attempted

62.

63.

64.

ga
<5,
=

ElZ

66.
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CG - CH23

Rieferfi i & BR-d Fen 38 =R 2
(A) 541326

(B) 1111

(C) 5967013

(D) 398 A ¥ TE

(E) arrnfea

_ fymmw o gEd SATE ¥ 3R
T Ty ST T gEdTe @ |

(A) i Hifea

(B) afet Gfem

(C) Bfss =

(D) I | & HI3 TE

(E) 3T

i 121 o A s w2die o foa
a % S TGl g 7

(A) 1968

(B) 1958

(C) 1955

(D) 1965

(E) 3TTtEd

g+ w1 3w/, — 3w, [/ e+ 3

+op1 31 -, A
36*12+4/6+2-3 = ?
(A) 2

(B) 42

(C) 18

(D) ST § & HIE T
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67.

68.

69.

Which of the following is the correct

syntax for using malloc() to allocate

memory for an integer variable

(A) malloc(2 % sizeof(int))

(B) malloc(sizeof(int*)) %‘EE
. P

(C) malloc(sizeof(int)) @3’2‘%

(D) malloc(sizeof(int)) * 2

(E) Not attempted

Find the L.C.M. of 72, 108 and 2100.
() 37500
(B) 37600
(C) 37800
(D) 37400

(E) Not attempted

What is the LOOK disk scheduling
algorithm ?

(A) A disk scheduling algorithm that
services requests in one direction
until there are no more requests in
that direction, and then reverses
direction and services requests in
the other direction

(B) A disk scheduling algorithm that
services requests that are closest
to the current position of the disk
arm, and changes direction when
there are no more requests in that

direction

(C) A disk scheduling algorithm that

services the request that requires
the shortest rotational delay

(D) None of the above
(E) Not attempted

67. ol g afteee 1 A A =y
yRE ¥ rnalloc[)?ﬂtﬂ?ﬁﬂm{%{a;%q
fre o & P o W R 7
(A) malloc(2 * sizeof(int))
(B) malloc(sizeof(int*))
(C) malloc(sizeof(int))
(D) malloc(sizeof(int)) * 2

(E)

72,108 3 2100 T TALYTH THITH
(werefie) T HIT |

(A) 37500

(B) 37600

(C) 37800

(D) 37400

(E) ASATRIT

69. Tb (LOOK) f&wh Jesifent ueiiiey «=m & 7

(A) Th o wsgfem uemitgn Sl @
fen & @« o rgaYl S qU w2
9 e 39 fewn § #1330 A
&, 3t fRt feen Ieest gudt feum #
TN 1 G HT B

(B) U fewep Srestfen wemiten it fewep amd
i e fRfa & 98 Hie & il
I U w8, 3 39 feow F B 3k
- Y 7 B T fewn s e @
g,gf%" (C) T fewr J=egfem uwiiien st e
ooff e ¥ s smiy @ T
T &

(D) 39w # & &S T
(E) 3Ts=nfea

68.
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70.

71.

T2.

73. A deep and narrow valley

F layer lies below the

(A) Mantle

(B) Rocks

(C) Core

(D) None of thesge
(E) Not attempted

Shivalik hills are not found in which

among the following districts of
Haryana ?

(A) Ambala

(B) Yamunanagar
(C) Sirsa

(D) Panchkula
(E) Not attempted

Find the largest number which divides
62, 132 and 237 to leave the same

remainder in each case.

(B) 35

=401
=

A) 39
(&) EEE
(C) 34 (D) 37
(E) Not attempted
with steep

sides is called a

(A) V-shaped valley
(B) Delta

(C) Gorge

(D) All of the above

(E) Not attempted

72.

73.

CG - CH23

 TEmesARRaE
(A) Hew

(B) =g

(C) ®R

(D) 379 | I3 TR

(E) Imrmid

foranferss wanfeat g 3 Freefed # ¥
Ty R 3 = o et € 7

(A) s
(B) IHAR
(C) o,
(D) =,
(E) SRt

o5 g 9 sEm T hi e
62, 132 30T 237 = fawfm W W
TR W § T AR & |

(&) 39 (B) 35

(D) 37

Iﬂiﬁmﬁﬂﬁmﬁﬂﬂﬁﬁaﬂt‘éﬁﬁmﬁaﬁ
gl ST @ |
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74. Which of the following statements

75.

76.

is true about inter-function
communication ?
(A) Inter-function communication

can only be done between
functions that are defined in the
same file

Inter-function communication
refers to the use of function

arguments and return values
to pass information between

functions

(B)

Inter-function communication
refers to the use of global
variables to pass information
between functions

Inter-function communication is
not possible in most programming
languages

(E) Not attempted

(@)

(D)

Find out the missing number in the
following sequence.

1,3,3,6,7,.9.2; 12, 21
(A) 13

(B) 11

(©) 10

(D) 12

(E) Not attempted

1¢-40]
%

0
&

During the first World War, of
Ambala district in Haryana was one of
the architects of the Ghadar party in
San Francisco.

(A) Deen Dayal Sharma
(B) Teeku Ram

(C) Neki Ram

(D) Kanshi Ram

(E) Not attempted

4. w_wmﬁﬁsﬁ%aﬁﬁﬁnﬁﬁ

S

(A) ot FRIFRIH bt JE g 3
foTTed e < ofter feRam ST e §

(B) $-HEEH BRI, W % iy
FHR 98 HH F T FRH T 3
Tl 9o < ITINT I HEid A 3

(C) $H-FRE FYHHIH, FRE & dy
e H U FH & 0 G =
IYANT 1 Hehia w8

(D) FfhT ST s § $eX-%eH
EZ2EENERECE LR

(E) TSt

frfefaa s o o g s it |
1,3,3,6,7,9,?, 12, 21

(A) 13

(B) 11

(C) 10

(D) 12

(E) Jrsanfaa

=

=

75.

76. ¥ {7 3 % 3, 2 % sfaren R

F & seiferent i et a3 g
THTH Y |

() EF gaTer i
(B) g m

(C) =t TH

(D) st T

(E) Tt

-18-
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C:

77 If in a code, ALTERED is written as

78.

79.

80.

81,

ZOGV
S T{‘gg then in the same code,
Would be written as

(A) VIOUYGM
(B) IVOZGwv
(C) IVOZGVw
(D) IVOJKHM
(E) Not attempted

Classification of rural markets
(A) Consumer market

(B) Services market

(C) Industrial market

(D) All of the above

(E) Not attempted

What value will replace the question
mark in the following equation ?

8597 — ? = 7429 — 4358
(A) 5258 (B) 5526

(C) 5528 (D) 5256
(E) Not attempted

This district of Haryana has least
number of Gram Panchayats

(A) Faridabad
(B) Panipat E:ﬁ@
(C) Gurugram A

(D) Mahendragarh
(E) Not attempted

How many terms are there in

2, 4, 8, 16, ..., 10247
A) 12 (B) 8
© 5 (D) 10

(E) Not attempted

CG - CH23

77. AR wF @rg # ALTERED %l ZOGVIVW

=
ﬂ§<
o

=]

féran s 2, v weft #rg § RELATED 3
o feren smam |

(A) VIOUYGM

(B) IvOzZGWV

% (&) IVOZGVW

(D) IVOJKHM

(E) 3rornfr

78. T TSR] 1 SRl

79.

80.

81.

-19-

(A) IUHTRT SR
(B) BT SR

(C) 3ftenfires SR
(D) I a+t

(E) Trnted

frferfia wfemr # v foe & R W
HIF-T TH AT ?

8597 — ? = 7429 — 4358

(A) 5258 By 5526

(C) 5528 (D) 5256

(E) Twmtad

ghamn ¥ frm f9et & 9ad 0 7w
TR & 7

1024 § fra w2 2 7
(B) 8
D) 10

2,4,8,16, ..,
(A) 12

(C) S

(E) T
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b
82. Whatis a dependent statement in
programming ? -
(A) A statement that is used to define
a variable
(B) A statement that depends on the
~" execution of other statements in
the program
(C) A statement that executes
independently of other
statements in the program
(D) A statement that is only executed
under specific conditions

(E) Not attempted

How many number of times, President
Rule was imposed on Haryana ?

(A) 4

(B) 2

€ 1

(D) 3

(E) Not attempted

83.

What value will replace the question
mark in the following equation ?

? - 1936248 = 1635773
(A) 3458690
(B) 2021357
(C) 3572021
(D) 1936248
(E) Not attempted

84.

B
s

85. What is rotational delay ?

(A) The time required for the disk arm
to move to the correct track

(B) The time required for the disk
controller to process a disk request

(C) The time required for the disk to
rotate to the correct sector -

(D) None of the above
(E) Not attempted

CG - CH23

gyt i F¥Ee Rette T F 9

2. ezt 3 et At ) sy
Fa % fore s fepan s 2
p) ©F Wi S st # I R 5
freqred T it e 2
S ez S wum # I3 R 3
ol © T 3 o @ 2
(D)qmézﬂzsﬁm%ﬁqmﬁ
freqrfed giar
(E) 3SR
g3, gremm i fhaet I wsgufd e
™7
(A) 4
(B) 2
€ 1
(D) 3
(E) TSR
84. fy=fefaa gefieor § uy fog & =M W
HH-TT 7 B ?
? — 1936248 = 1635773
(A) 3458690
(B) 2021357
(€) 3572021
(D) 1936248
(E) STt
85. Uil focia ®m R ?
(A) fe=p ami =t wdt 35 W 9™ % foe
i Tma
(B) feth iy = waifia @ % forg
fe= T g snifaa oy
(€) for =1 Tdl dFx § gam & fow
i T
(D) I # & b1 Tl
(E) 3rnfia

.20-
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86.

In a certain code, SIKKIM is written as

THLJJL. How is T k ;
that code ? RAINING written In

(A) SQRSGRER
(B) SDHMLHJ]
(C) UQBHOHOFR
(D) None of these
(E) Not attempted

National Agricultural Co-operative

Marketing Federation (NAFED) was
established on

(A) 27 October 1956
(B) 2 October 1985
(C) 2™ October 1958
(D) 27d September 1958
(E) Not attempted

Expressway of Haryana is

the longest 6 lane flyover in India.

(A) Kurukshetra
(B) Chandigarh
(C) Ambala

(D) Panipat

(E) Not attempted

ELEE
5
o

89. An aeroplane flies along the four sides

of a square at the speeds of 200, 400,

600 and 800 km/hr. Find the average
speed of the plane around the field.

(A) 564 km/hr (B) 384 km/hr
(©) 765 km/hr (D) 444 km/hr

(E) Not attempted
Find the least number exactly divisible
by 12, 15, 20 and 27.

(A) 240 (B) 540

(C) 440 (D) 340

(E) Not attempted

86.

=1 :E'.

S EEALY
Elety

87.

88.

89.

90.

21-

CG — CH23

UE fiferg e i SIKKIM - THLJJL fermn
S B, A TRAINING 1 A fern s 7
(A) SQRSGREE
(B) SDHMLHJI

1C) UQBHOHOF

(D) 1 & =»1g &l

(E) atsrmfaa

T iy Feerl oo g (NAFED) =l
ey #H R s eft |

(A) 2 FTFREE 1956

(B) 2 31agaX 1985

(C) 2 37aga 1958

(D) 2 fodet 1958

(E) T9=mad

‘RO 6T TS 9d H 3™
I 1 T 9T 6 O TSI 2 |

(A) FEEA

(B) TSN @

(C) =TT

(D) T

(E)

w o™ W =it % =W 3R 200, 400,
600 3T 800 fmst/=er 1 nifa & 3I=am B,
&t e & = 3T o= < 3ftwa ifa s a
Hifsg |

() 564 feft/=er  (B) 384 fopett /e
() 765 FEfi/ga1 (D) 444 AEas ATl
(B) TSR

12,15, 20 3t 278 T ot e 8n

el T8 B G 9 iy |
(A) 240 . (B) 540

(€) #4440 (D) 340

(B) 3T
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91.

92.

93.

94.

95.

English Language

Complete the following analogy.
Hen : Pullet : : Kangaroo :
(A) Joey

(B) Calf

(C) Cub

(D) Pup

(E) Not attempted

How many tenses are there in English
Grammar ?

(A) 8

(B) 2

C) 4

b) 3

(E) Not attempted

Choose the correctly spelt word.
{A) Farewell

(B) Fairwal

(C) Fairwell

(D) Fairwel

(E) Not attempted

Complete the following analogy.
Faith : Doubt : : Enjoy :

(A) Suffer

{B) Sad :

(C) Pain %\%ﬁ
(D) Happy. —

(E) Not attempted

Complete the following analogy.
Full : Empty : : Pride :
(A) Denounce

(B) Dissuade

(C) Defendant

(D) Humanity

(E) Not attempted

08, TR yaTe fEad) =i fope o arcet v
% gree & &9 § ge T ™ 7
1A) 9§ 1909
(B) ¥ 1903
(©) =¥ 1900
(D) 9§ 1906
(E) 3R

99. W& arqviy § e IawmeT 1 fEE
B3 ¢
(A) Gereft
(B) ufdedt Trorerh
(C) Togry
(D) Svey
(E) 3trnferg

& 3§ o % e i 7
(4) 2 (B) 3

(C) 1 (D) 4
(E) Stsrpfer

100.
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